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1 Which of the following is not a function of the Political parties? 

A. To play the role of Opposition 
B. To form and run the Government 
C. To recruit and train leaders 
D. To provide social services 

2 The term ‘alliance’ refers to what? 
 A. Leftist and Rightist together form the Government. 
B. When State and National parties together form the Government. 
C. When several parties in a Multiparty system join for the purpose of contesting in election 
and winning power. 
D. None of the above 

3 UPA stands for which Alliance? 
A. United Progressive Alliance 
B. Unique Public Alliance 
C. United Public Alliance 
D. Unique Progressive Alliance 

4 Which of the following countries is an example of a Two-party or Bi- Party system? 
A. India 
B. UK 
C. China 
D. All of the above 

5 Match Column I with Column II and select the correct answer: 

Column I Column II 

A. Congress party 1.National Democratic Alliance 

B. Bharatiya Janata party 2.State party 

C. Communist party of India 3.United Progressive Alliance 

D. Telugana Rashtra 4.Left Front 

a. A3, B1, C2, D4 
b. A3, B4, C1, D2 
c. A3, B1, C4, D2 
d.A4, B3, C1, D2 

6 The rise of Political parties are directly linked to the emergence of _______. 
A. Minority democracies 
B. Direct democracies 
C. Representative democracy 
D. Constitutional democracies. 
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7 Which of the following statements are not true about Political parties? 
A. Political parties are easily one of the most visible institutions in a Democracy. 
B. Political parties agree on some policies and programmes for the society with a view to 
promote the collective good. 
C. Election Commission offers unique Party symbol to all the registered Political Parties.  
D. Many of the pressure groups are the extensions of Political parties among different sections of 
the society. 

8 National parties have their units in various states, but by and large, all these units follow the 
same policies, programmes and strategy that is decided at the ________. 
A. National level 
B. State level 
C. District level 
D. Village level 

9 When many Political parties compete for political power and more or less they are equally 
influential, that Party system is called _______  
A. Single party system  
B. Two-Party system  
C. Multi-party system 
D. None of the above 

10 Different parties come together to form a _______ government. 
A. Coalition  
B. Opposition  
C. Responsible 
D. Communist 

11 Who is the founder of the Bahujan Samaj Party? 
A. Sahu Maharaj 
B. Jyotiba Phule 
C. B.R. Ambedkar 
D. Kanshi Ram 

12 The main objective of the Political party is to achieve ________. 
A. Status  
B. Recognition  
C. Fame 
D. Power 

13 Parties function through______________. 
A. Demands of the people 
B. The way they want to do 
C. Policies and programmes 
D. None of the above 

14 A Government is expected to base its policies on the line taken by the__________. 
A. All nominated parties 
B. Ruling party 
C. Opposition party and Ruling Party 
D. All of the above 

15 Which Political party believes in Marxism-Leninism? 
A. Communist Party of India 
B. Nationalist Congress Party 
C. Dravida Munnetra Kazhagam (DMK) 
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D. Bahujan Samaj Party 

16 Name the Party formed in 1999 following a split in the Congress party. 
A. Nationalist Congress Party  
B. Bahujan Samaj Party 
C. All India Trinamool Congress 
D. All India Congress Workers Party 

17 In the question given below, there are two statements marked as Assertion (A) and Reason (R). 
Read the statements and choose the correct option: 
Assertion (A): Over-regulation of Political parties can be counter-productive. 
Reason (R): This would force all parties to find ways to cheat the law. 
Options: -  
A. Both A and R are true and R is the correct explanation of A. 
B. Both A and R are true but R is not the correct explanation of A. 
C. A is true but R is false. 
D. A is false but R is true. 

18 One of the demerits of a Multiparty system is that, it often appears very messy and leads to 
Political_________. 
A. Corruption 
B. Defection 
C. Instability 
D. Aristocracy 

19 

 
  Which of the challenges faced by the Political Parties are highlighted in the  
above -mentioned cartoons: 
A. Money and muscle Power 
B. Lack of Internal democracy 
C. Lack of meaningful Choice  
D. Dynastic Succession 

20 

 
Identify the Political Party from the above-mentioned Party symbol 
A. All India Trinamool Congress 
B. Bahujan Samaj Party 
C. Nationalist Congress Party 
D. Communist Party of India - Marxist 

 


